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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
HEHE R
= 1 212, 251, 683
JE T
= 1 108, 922, 848
I L
= 1 13, 970, 450
I +H
m3 4,700 214.6 1, 008, 620
b TE b Cash ERIRY L&)
= 1 12, 409, 580
L
= 1 552, 250
2N
= 1 75, 242, 440
PR (LR B
m3 22, 000 214.1 4,710, 200
b S TE b Cash ERIRY L&)
= 1 65, 083, 720
FEIA O=27) +H
= 1 5, 448, 520
BEREE T
= 1 15, 164, 110
AR 1
m3 4, 300 323.2 1, 389, 760
b TE b Cash ERIRY L&)
= 1 12,702, 510
FEIA O=27) +H
= 1 1,071, 840
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THEX Sy« TH - FERI - HH50 H PO B B G AT & # T (G E LM
R T
= 1 4, 545, 848
EE R (B) 1350) VIE R K OV R+
m2 3, 820 844.3 3,225, 226
RS AC R =)
m2 3,170 416. 6 1, 320, 622
Mgt R T
= 1 84, 706, 606
HERXTESZRET
= 1 84, 706, 606
TE%E W} O+ B EHIS N 100kg/
3 LAV NREEM (—R%ERES )
m3 29, 200 2,893 84, 475, 600
B AR E S B E - s
= 1 231, 006
AnT=h L
= 1 6,431, 520
7" VR ANV = I
= 1 6,431, 520
7" VEYAME 9)A BX (R)-S (al) -B2500 X H2500
m 20 321,576 6,431, 520
Pk A iE ) T
= 1 5, 889, 083
LI
= 1 2,221, 114
7" VA NURLRI T PUT-B300-L2000
m 140 9,396 1, 315, 440
5 CT-B300-L500
bie 252 2,636 664, 272
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5 SG2T-300-1995
bie 14 17, 243 241, 402
BIRT
= 1 50, 069
ta-hiF (BIBAE) HP1-R1-D800
m 1 50, 069 50, 069
HEAKT
= 1 3, 483, 300
UNEEE FiR BF- 1 -B300-L2000
m 510 6, 830 3, 483, 300
AR T
= 1 134, 600
AKFHEK W600 X t7 (V7" U ifi)
m 100 1, 346 134, 600
&S E T
= 1 392, 390
M EUE L 1T
= 1 182, 900
) - M IS B L AT HEEY)
m3 20 8, 148 162, 960
A AR A TAT7VIMEHEERR EH2ERRIE 15em
m2 100 199. 4 19, 940
TE AL T
= 1 209, 490
Prau kil vy -k (SR
m3 20 3,276 65, 520
Prau kil TAT 7V bk
m3 10 4,704 47, 040
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THEX Sy« TH - FERI - HH50 B BT & G AT & i T (G E LM
LGy av) -k (JER)
m3 20 3,231 64, 620
LGy TAT 7V bk
m3 10 3,231 32, 310
e
= 1 5,909, 236
B R B T
= 1 4, 269, 286
SHRAR VA L=12. 0m
= 1 4, 166, 250
TERBUEA B Pt - A i
= 1 103, 036
RImE T
= 1 1, 639, 950
AR FE AR B
= 1 867, 650
AR B
= 1 772, 300
B T HE
= 1 212, 251, 683
BTl TE:
= 1 25, 477, 262
B ST ¢
= 1 2,529, 654
TR
= 1 699, 385
AR T
= 1 699, 385
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
Htre m
= 1 69, 300
B i % FEARTT AR
= 1 53,901
A7 b B
= 1 6,691
VAR AN Y g
= 1 8, 708
BUGERRYGEE (5 1)
= 1 1, 760, 969
MR R (B L)
= 1 22, 947, 608
Wi
= 1 237, 728, 945
BTk X=giiv oy
= 1 76,293, 715
R 5]
= 1 314, 022, 660
— e
= 1 45, 477, 340
Tk
= 1 359, 500, 000
THE B 2 %8
= 1 35, 950, 000
TG
= 1 395, 450, 000

-5- E s Abkei )7 &6 R




